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. qﬁABCEﬁTﬁEZYx% A DEF s g 718 ?

If'the code for ABC is ZYX, what is the code fF DEFc) VWU (D) UVW/
(A) vur (B) WVU (

2. STHE e 3 i i | (/

Find the dissimilar pair of numbers, 9?'5
4 ) g (/3 27 - 2 12
L4 _2_ 4 8 1C) -5_’_35
(A) TS ® 71 5 : 9’ 81 |
3 U aae () o Pt e (gRe) 7 ;m?ﬁ%wm@w

gt (sfmeteer gdmen) T & | U e wwad (X
A plane intersects a regular tetrahedron in such a Wdy that the intersection fo
How many such planes can do this ? €&

A) 4 ®) 1 € 2 (D) 3

TR s e s § 33 § | A, O FHard e e | aeft, 20 & oS ST & Stk g et & 8T @ | e, ot Sl g
FAGE | gL FT IR 2

(A) W ®) (C) (D) f&

Four friends are sitting in a row. Sam is to the nght of Tom. Amy is to the left of Tom but not next to him.

Rick is between Amy and Tom. Who is sitting at t ar right ?
(A) Tom (B) Sam (C) Amy (D) Rick

5. IROTAT 800 A U ArsiRet GidT o fR I T 920 fﬁaﬁm | ST AT Fferrd 41 8 2
Arun bought a cycle for ¥ 800 and then sold it for T{9‘|20. What is his profit percentage ?
(A) 10 B) 15, {_';‘C) 20 (D) 30

iod

6. Frafafea & fowm @=ie) Fgfu e
Pick out the odd one from the following. b

3,5,7,9,11,13,17, 19

(A) 9 (B) 3 ©) 17, (D) 19

7. qasmﬁrﬁﬂ?%|mww%%wmqﬁgaﬁaqﬁas%ﬂﬁmﬁrf‘mﬁﬁﬁma—%ﬁw
?Eﬁi?l?ﬁl mﬁ

A figure is given. You have to identify which arhahg the following pieces is not required to make this

j 1

rms an equilateral triangle.

figure. g1
G} ’E‘Wl}"ﬁ / Given figure : } ]
. L '
) '
(A) V (B) q (C) /D (D) B
HTZ-24 T Pasezerad T
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i"in -
d the odd one out. Y

(A &

?_ § Sjger § X g1 T | Q
Nd X from the given series. X
64, 57, 50, X, 36, ... ®
(A
. ) 4? (B) 43/ (C) 44 (D) 48
TG R apveft g 3 Fif |

Find the next number in the series, O
280, 275, 265, 245, ... o0
(A) 205, (B) 210 Yo 220 (D) 215
1. R faeit i & frew o) o
(A) forews (B) =l M) s (D) FHIS
Find the odd one out from the given alternatives. < i
(A) Milkshake (B) Burger ()(C) Pizza (D) Cookies

S NI IEINE

ﬁmmﬁwﬁﬁﬁmﬂmmﬁmwﬁﬁﬁm|

Find the next figure in the above series from the oetgons given below.

AN S

I it I IV o~ v
\#1

A) 1V (B) V.~ @©) 1 (D) III

13, sj@e STt s F @ A

Find the next figure in the series.
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4. e R @ fowm (g R @ AR
Find the odd one out in the series. ol
B4, D16, F38, H64, J100 () s
(A) He4 (B) F38 & (C) B4 (D) D
. . . £ \ Y\A
15. Thfar & Byl i e 3rd i | 1 O ¥ N
Find the number of triangles in the figure. i @ af . @Lr’,
. I ‘ J',\C
. : L)
(A) 16 (B) 12 ) (©) 18 - (D) 14
16. T & d T e Y aﬁtmmgqanmﬁm ggeht Tt 1 gl 3¢ 3 A & 17 39790 39 et |
fra TFR defa ® 2
(A) ST (B) Uit . (C) ==& (D) oSt~ _
Pointing to a man in a photograph, Asha sald “His mother’s only daughter is my mother.” How is Asha
related to that man ? ‘l
(A) Nephew (B) Wife (C) Sister (D) Niece
()
17. Fre=fefes § & frem argfi &
Select the odd one out from the following. = 5
(A) 23 (B) 63 ©) 17 (D) 11
18. @ﬂﬁﬁﬁ%@ﬁ%ﬁﬁﬁwwﬁﬁgaﬁtﬁuﬁwﬁﬁqﬁmﬁgﬁmﬁm%m%maﬁ
o i x i
TR % o R g 1 Pt
Study the following positions of a dice and{d_ietennine how many dots are there on the dice face opposite
the one with three dots. W
&) 6 (B) 2 ©) 4 (D) 5
19. T Tl i R g A g e 3 e, 8 B fiar &) sFehdr a8 A 33 2 1 o ow aeh @ e
TR Heifq g 9
B) T (B) wm (©) FH (D) T
Pointing to a girl, Vinod said “She is the daughter of the only sister of my father.” How is Vinod related to
the girl ?
_____ @ Grandfather (B) Uncle (C) Cousin (D) Father
BT R S e S o e oo e e e i e e S i i
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20. Fefeferddsmmfmaaire

(A) |§Fg¥qiﬁ‘r§ﬁw#dhgdlam Fff

(B) W%Wﬁwﬁmmaﬁm:ﬁ TR |
(©) Biqeiaﬁ‘ﬂ(ﬁq‘aﬁc AT @Y | __.'

(D) % 3R I=amer 2t o | (s

21, Trefafea § & fra vse =1 ok Bmer 29

(A) FaF B) ffe (©) ¥ (D) g
22. A TR 7 3 v @ )
(A) THW UG (B) AreRfiaT (C) wARITEm (D) T T
23,  BH YA SEA F HHe O § F oenfind andes £ 0
(A) SfenTi i g FI HagdrgEe a=F |}

(B) aﬁﬁauﬁ:ﬁﬁﬁaﬁmaﬁm@wy
(C) Tavamus fim =1 gerr dax | ]
(D) 3t S At a1 g |

24. FgER I yEd <

(A) A a9 & T 2| ‘_r'-‘ (B) FEX et |
(C) Waﬁtﬁﬁmm%l/ (& (D) 59 ! 7 T &t |
25. mﬁmﬁﬁﬁaﬁmmmug@%?
(A) Wa™™ (B) aﬁww/ (C) 3Id ™ (D) Fwor g

26. ﬁm%ﬁaaﬁﬁﬂﬁﬁaﬁﬁﬁwwﬁﬁq:[ }
(A) ARTTATTATAAR L o (B) 7 T/ WA qc &I ey Arent |
(C) 7 faret at & 7 g At | () (D) T BT T & e AT |

g ﬁﬂﬁiﬁﬁﬁﬁﬁq_msﬁymw;g‘r
(A) IFE-TZFE (B) aaﬁ:aa% (€) S e (D) 3R 3=

28, ‘IUHHE HEHER

(A) TN (B) FHUY Hl (C) ageife (D) &%
59, “giST Y154 I YAHAT Frag WA HIMAC : -

() = (B) T © thfﬁmﬂ ___________
""" 2‘5""""""""""'"""""'""'"135555'0?24 e
HTZ-.
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Hr g9

30. “@%mﬁﬁnmawmwﬁgmqﬁmumw%Nﬁqag&amaﬁnmﬁqaaﬁ;$ﬂzw

(A) @ F i de (B) gferen & gt Mg AT

(C) THFHdHIE (D) T AT
31, W 37 ST IT6R-H HA-T R 9 ol

(A) I-W = ST AT Yrget ( )(B) (- HATHR = @ - A

©) IT-F = I -aw_ 1) Fef-freie - & -7
32. ‘TEe dedatydo - _

(a) o B) & <o =t (), =
33, forre o gt & R e et 3 & o e SRR R 2 |

(A) FwfEen  (B) FAdaE ©)(C) FHrEm, (D) =% F T
34, T g aott < g fra 2 2 '

(A) 33 (B) 50 ©) 51 (D) 52
35, U o ITEOT W FA-ATR ? -

(A) &4 (B) Tuf L) #% (D) a1
36. IS TR TR ST 2 o

(A) fayemm (B) g5 uHE 53,(C) JeEivEEAE (D) AegET @
37. oy fradhr R 2 s

(A) wiRYRR,  (B) = wwl éjm)g%ﬁw (D) FERATS FTATA
38, freafafiaa & & e o & < R - . '

(A) TRt =ht foeT ST et §i | éi@yﬁmﬁmﬁﬁéﬁwnmmqgmamw

(€) sTdaaTRt S fET T AT e | # (D) wifRAT Y foeT FAT TEAT T | ¢
39, < it sy T 3 R S i et e & e fobr T R 2

(A) LR/ (B) T G

(C) WTa TR e warerd TR {:?)(D) T g
4. fA#H @ at: . o8

(A) ST, ®) % ()(©) (D) =
41, Frefofad i & vataaTeh weg 1 FH-A I W R 2

(A) BT - TR (B) @t —arfy, (“)(C) TR - M (D) YRR - Felat
. e e $ i i R e Ed & 2 d

(A) 22 (B) 12 {3@)1; (D) 11
3. F e e RER? éﬂ |

(A) EH (B) FH T (C) wEEH, (D) "=
44, zhEw TN TR

a) s (B) sﬁu/ (C) Ff5H (D) &
45, FTET A FH-ATEAER ?

(&) e ® T © Wt O I,
%Y Page 6 of 24
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(A) Tidmmwt  (B) gﬁ‘ﬁqul () Tz fivsy (D) AT
Frfrfae & & #e-a1 vk gioeim R
(A) MR (B) = (C) A (D) T
“T-TIN-qUp =67 FHET: FET 3T S e g
(A) THge-sfag (B) wem-ufiiy (C) HE-UE-3gg (D) FHRAAAA
‘I I A TR R ‘Y
(A) 3TeTsH (B) Ed, o (C) ¥fEa (D) TE
T Ty T R O
(A) ¥ ®) f W) g (D) A
Prefifes § ¥ Smar e d wsEme e W
(A) TS (B) @&, 4 mw (D) FFFT
Tiieg & Shfem e 2 ()
(A) el ® T, @ () e (D) e«
Sirm i@ S M Fa §:
(&) dRmsm B) THEFL (©) ApiEE (D) ERe i
FraferRaa ari & @ forw e § s @ R 2
(A) erawar ¥ i) ¢y ®) Afeeeh T
(C) T e T R oy (D) fRverh vgr W@ |
R St § A T ot e A § 2
(A) el %, ST | w @) Rlriswdl
(C) e S e vedt ¥ | J (D) WS =T
et @ A FA T F R = <
(A) g ®) ferh () (© el Y
1. Xey#adEX yfraeTd ®
2. X3YHFIAIRX, YHER
3. XS8Y®IARX Yarufa®
4. XSYFIERX, Y Hruehd
fPreferfaa # @ frem s 2 Rr K, HATER 2
1. X2Y means X is the sister of Y 'ﬁ
2.  X3Y means X is the son of Y {']'.__';I'!
3.  X8Y means X is the husband of Y w
4. X5Y means X is the wife of Y ﬂ}& . -
y : K is the mother-in-law of H ?
23“’;0; ih; Jﬁ;";“;rf " e J3KBIO) (©) H2I513KS8 L O HsiaisLzg
T P @¥ige 7 0f 24
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66.

67.

69.

70.

1.
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34N 85

ich i ; b
Which is the 13th letter to the left of the 6th letter from the right when ot write the Engllsh alpha
backward order ?

@) 1 B) T © H (D) S
e forwt ey Y 5 AT T TRER TR, o 3w W ) 20 G F i foy g A-an A STC 2
A) TqEm -~ (B) ®waw

ets in

(C) WA (D) AR
. D
If Thursday will fall on 5™ of a month, then which day will fall three days after the 20th of that month
(A) Sunday (B) Monday (C), Tuesday (D) Wednesday

BE wisfdat, X, Y, Z, S,PaﬂrQ,qmqﬁmﬁa%a@@ﬁﬁ%mmﬁmrquﬁ;%;ﬁmh p,Y

3 S 3ol i e 8, A e & s A8 1, B9 Q e P | 2, § 3 e e p & A
RIPFHFadaNR? |

4

bl

Six girls, X, Y, Z, S, P and Q, are sitting around a cirpular table. All of them are facing toward the centre
of the circle. P is not sitting between Y and S, but sor gone else from the group is sitting there. P and Q
are opposite to each other. Z is to the left of S and righ?;" fP. Who is left of P ?

.

(A) 8 (B) X ©y v~ (D) Z 3
af 8 vl & & o i ol vear &, dr 7w e R #Sg w2 2

(A) afdoft (B) sult (C) (D) afzt /

If a bird flies from East to West, what direction is it flying in ?

(A) Southern (B) Northern (C)) Eastern (D) Western

e 2, 5, 10,17, HIq R | ofs

Complete the series 2, 5, 10,17, . )

A) 267 (B) 24 (G 28 (D) 32

27a@ﬁwmq@xa@%ﬁmq@%w%H;‘ﬁmﬁ%%,fﬁxarmw%?
The cost price of 27 articles is the same as the selling pfij:e of x articles. If the profit is 35%, then the valye
of xis: “\

(A) 20/ (B) 22 (G), 24 (D) 18

e Tt 3 A 3 15 el s 2, o O Y & o 15 Feeft 1 0 71 T R oM iy g
%1&»‘:%15w%mﬁﬁ'mw%mmﬁq§aﬂ%mlswﬁ@ A | a5

SAC]
s g Pt g e e P 8122 -
(A)  30+/2 foreft afeor-afam (M 30~/2 fet Jae-afem
© 302 P, u‘?)d 30/2 foreft efior.

A man went 15 km towards North, then turned East a:)ﬂ_ covcrcd‘ 15 .km and turned to.the le'ﬂ:. A_gain after
15 km he turned to the right and covered 15 kmto n::al«;hl the destination. How far and in which direcy;

; On jg
he from his starting point ? < 1

(A) 30+/2 km South-West (B)) 30+/2 km North-West

((-\ an .r"!_ oo BT _ile T hact (ﬁ:‘ BO‘JZ_ km SOUth-E&St -
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(A) 39 seconds (B) 35 seconds (@) :‘42 seconds (D) 37 seconds
{t4)
60. S,VHIRLIP,SIHRNTH e, sie T MA@V, R =L |
P, V ¥ fohe YR eifera & 2
(A) ST (B) ®g.— (C) foar (D) T
S is the brother-in-law of V. P is the father of S and T, who i is the father of M. V is the daughter-in-law
of R.
How is P related to V 7 €h
(A) Son (B) Father-in-law (G Father (D) Brother
61. e, ﬁmﬂaﬁﬁ%ﬁ%m@ﬁaﬂaﬁmﬁ%mﬂ ﬁmﬁaﬁﬁqﬁ%%wﬁﬁﬁ fidie I we
LGNSR CIE e R
(A) =l (B) T (C) Iqﬁm (D) G-
Namita is taller than Priya but not as tall as Madhuri. Rﬁeha is not taller than Namita but is not the shortest.
Who among them is the third tallest ?
(A) Madhuri (B) Priya (Cg._ Namita Reena
v 5L &
62. ITTHA 1,2, 6,24, 120 7 3Tl AT FAE 2 }
In the sequence 1, 2, 6, 24, 120, what is the next number ? R \
(A) 720 Lo S (B) 360 (C) 480 (D) 650 \ 3
63. HTET 6,24, 60,120, ¥ Teit GEAT J1d HIfT | ™
. () 57
Find the next number in the series 6, 24, 60, 120, . o -l:“
; _ 5
(A) 210/ (B) 236 (@) 216 (D) 218 57 K3
/ STEHT I T T | M 7 ,,\jff/gp
Find the dissimilar term. {3 _P‘.%“ y flm i
P49, T4, Z64, K9. | -\ A
(A) Z64 (B) P49 (C) ‘K9 (D) T4 /
65. WY U Hif :
SRS « ST 2 2
(A) & (B) TEISH (C) ATEISH (D) Frai SrgaitFaES
Complete the analogy :
Oxygen : Burn :: ? : Extinguish
(A) Helium (B) Hydrogen (C) Nitrogen (D) Carbon dioxide
15 2% YR page8of24 T

MLmDm@ t ps: //ssc\oortgl

\( y*/

. ot STaT 9
af 987 FY 123, 741 1 369 h &7 F wifea fpar I &, T 269 F1 g TR HIEA
If 987 is coded as 123, 741 as 369, then 269 will be coded as :

(A) 841~ B) 367 (G} 840 (D) 336

A O 39 T @ Y 15 AU g el 2, agoﬁsﬁmaﬁnﬁamaaareﬁwzmwwﬁm%ga
T IR A | foaeT qug o 2

(A) 393Ts (B) 35 sve (C)|42%¢ug (D) 37 §HUE

If a train crosses a pole in 15 seconds, how long will it lqke for the train, travelling at a speed of 90 kmv/hr,

to cross a bridge that is 600 meters long ?
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73, 2@ T ove =w e mmnmﬁmﬁv@mhﬁﬁﬁawnﬁgm%mwml

.

50

22014

£72013
2012

40 50 60 70

757 B § 3 7T F1 g el 2014 § R b wan o, 797 D ¥ Aiat fr wemn # e siaem @ ww
2012 ¥ fogdmw a1 2

(A) 65% (B) 40% 7)(C) 3333% (D) 80%
The given graph shows the number of villages ﬁour different states where electrification was done In
different years. 9
]
/////7/ ////////7/5'7/ /////Z////////// 7/
State A [riiibiiiirassirii e it

............................................. 50

T izze /7/7///////7//7

Suate B (A 22014
..... =
2012
g A,
tate %

S'laI-CD ...............................

;;;;;

0 10 20 30 40 50 60 70
Number oﬂillages
The number of villages in State B where etcctriﬁ@ﬁon was done in 2014 is what percentage of the number
of villages in State D where electrification was dogg in 2012 ?
(A) 65% (B) 40% T (C) 33.33% (D) 80%
W7 54 [ e T
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. AMTN
qﬁw’X@{Yﬁﬁawz-xﬂqﬁr%ﬁ‘rz%%ﬂww%ﬂ { B

(A) T (B) e i | .Y

If W is the mother of X and Y, and Z s the hush ®n w= .

x shand of X, then what is W 9 A

(A) Uncle (B) Mother-in-law | (C) Mother nhee (D) Sister v 4

TE W i Aifsr o 15 - | o e

e s 19 3 ST 3 2 § e T ARG A 38 4 4 3 s e A EH a1
ind the number that must be qubtracted fi ! ‘

@) 5 — rom the terms of the I‘{ltlo 15 : 19 to make it equal to {4 12

<] (O 3~ (D) 4
TR =T ST e < ST & 125% 3Tk & | e o o s o ey e o 2 2

Mita’s inc 450 {
ome is 125% more than that of Sita. What percent is Sita’s income less than that of Mita 7 dok

(A) 55550/?// (B) 2.5% Uy (C) 124/0 [)} ,”l o

S & et ferre faftr & 3 Seanedt & weew gHaads® (HCF) 3t o e &, ar sifom Fensrarer 2 v & oM
SHTHh YT Tae ¥ AT deh ShAST: 2, 4 3R 2 814 § | 379 <1 Sl 1 1 ifae |

When we calculate the HCF of two numbers by long division method, the last divisor Is 2 and the
successive quotients from first to last are 2, 4 ahd 2 respectively. Find these two numbers. 5 { &
(A) 12,16 (B) 18,40 o3 (© 16,20 (D) 20,24

a1 Yermisat fratia feem # 29 fer/ser 3T 25 %ﬁfmzraﬁw%&amﬁ | a7 Tifer areft e efeft nfe ,h
Wﬁwwaﬁﬁaﬁﬁﬁwgﬁmwﬁ%mﬂ%mﬁiﬂv@ﬁmmm|

(A) 904 (B) 854 (C) 100 (D) 110 H

Two trains are moving in the opposite dlI‘eCthIlﬁ]Et 29 knv/hr and 25 knvhr. The faster train crosses a man
in the slower train in 6 seconds. Find the lengtil€ f the faster train. : £
(A) 90m (B) 85m (C) 100m (D) 110m (.

£53240 FTTRTI AN H 10%aﬁ%m@ﬁ$mﬁ)mwﬁw%m’r{a ufi w0

ars at 10% (,ompound interest (compounded annually). What |
» &l \

A sum of 53,240 is accumulated in 3 ye

the original amount ? (B) 720,000 (©) 40,0007 (D) 60,000 £
(A)a;;0,00Uﬁ mﬁﬁ) %aﬁtmmﬁT?Wﬁfﬁﬂfﬁﬂﬁﬁmqmwﬁ .
ok & dvaft e A mﬁmﬁri(fﬁﬁ*ﬁﬁ’ 3 T ¢
Wﬁ g beicultural workers is S and that ot other workers iy 1 l <

f certain & :

The average mf)ntll“lly llm.oc?ri;eg;n:)lol imes that ot other workers, then the average monthly incop, “"11;,; .

number of agricultural W ! ,

5 ' 1NS+T -

f all the workers 18 , ‘ S { I_ I .‘

of al g+11T 2 J (©) > (m = ; 1?‘1
i l(d s, forad & 2% W AW 410 Y | U Ity " X
93

Lefeqaranit Y e HE ffsre | 26

st their votes, out of which 2v, of ¢ i

W) =5 *T ® "2
SE

Th ﬁé‘ranﬁzaﬁﬁ‘ws%ﬁﬁa‘m

a\zgaaﬁ%shﬁaaa&awsﬂ/ gl

Vil
an election. 75% of volers 759, of total valid votes. Find the the |, -
There were two candidates 0 9261 voles which were 75% ot Yot
te go
found invalid. A candida
ot 16,800 (D) 16,505 _~
-~

8 MYHe

“)Q - !
of voters enrolled. (©) | . g St
(A) 26600 Y - T B ' _ W W
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E@%QA\D‘«E\ ,;--2,.: itqjs SScCpor aICin/
N i i 1 e :
. %ﬁ%gigi;fg Skl mwﬁtﬁ%@mhwg%wzﬁnﬁmaﬂﬁaﬂﬂ;ﬂ\ﬁ\ﬁmm

TR B 3k qfererselt 0t fe 20 ety &, < =i % TS I H e 78 Pt

(A) ‘959 ‘ﬁ/" (B) 1000 #t, (C) 850, (D) 700 .
A thief is spotted by a policeman from 250 m. When the policeman starts chasing. the thief also starts

@nmg. If the speed of the thief be 16 km/hr and that of the policeman be 20 km/hr, how far would the
thief have run before he is caught ?

)
(A) 950 m \J

(B) 1000 m (C) 850 m o4 (D) 700m

| O

83. Qﬁﬁﬁmﬁ@wfiﬁwwﬁﬁ%ﬁaﬂgam|aqqq?65a°fqrﬁﬁ,aé.ﬁ§ﬂq=ﬁaﬁ?ﬁﬁmﬁ%ﬁﬁﬁn'mm
Bﬁﬂmlwﬁwaﬂwzwméwﬁla}MIﬁwwmwﬁ

A crickcte%- had a certain average of runs for his 64 innings. In his 6 ™ inning, he is bowled out for no
score on his part. This brings down his average by 2 runs. Then what is his new average of runs ?

A) 168 )
(A) (B) 130 (C) 128 & (D) 170
84. 31 Y WIE Tkl S (e FATSHT) Y 10% TRT 4,840 B ST aredt Het Ty @ &t 2

What is the sum of money that becomes ¥ 4,840 at 10% rate of compound interest (compounded annually)
after two years ?

(A) T1,500 (B) T4,000 7 (C) T4,500 O (D) % 3,400
o ; :
85. X 3R Y T e 1 o 12 oAt S 18 foH 8 qu A EeRd € | 3R O e i R 91 fopar oife 4
e Y Y ST T 37 X 3 ket 19 e qu o | v g e e A H o ge a2

15 < 28
(A) ?ﬁ: (B) lof= (©) 18FA @) = &=

X and Y can complete a work in 12 days and 18 days respectively. Tﬁ;gr started doing the work together
but after 4 days Y had to leave and X alone completed the remaining work. In how many days was the
whole work completed ? ®

28
(A) 1.3 days (B) 10 days (C) 18 days ©) = days

86 @%’%‘dmofﬁﬁqa;gmaqﬁ%mmﬁmém%aﬁt 25 et i Frafe et & | 24 RAF ¥ wre, @@
. w%%m@.ﬁg@mmw% [ ﬂz&ﬁmﬁaﬁ?ﬁﬁg&mﬁﬁgﬁmmmw4ﬁqmm
S A e 2 0.5:
) °) 60 \/ D) 7
(A) 70T (B) ]0035?/ (C) 607¥N i~ (D) 75 &Y
A contractor undertakes to make a tunnel in 40 days and employs 25 me. After 24 days, he finds that only
one-third of the road is made. How many extra men should he employ ko that he is able to complete the

work 4 days earlier 7 ]
B) 100 men (C¢) 60men () (D) 75 men
(A) 70 men R =R @ ~
----------------------------------------- Page 12 of 24 :
HTZ-.24 ;
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(AT s g 1 G o 3 200,

: ar)
T T 10% gy o 8| 2 A 8, S faefat ot gt 3 fore fealt (2
ﬁaﬁﬁﬁqﬂ#ﬁmmgﬁ%ﬁtﬂ?ﬁﬂﬂw mﬁmgmﬁ%mwﬁmg | a‘ranmﬂ

e
A trade : ;
deliver; ::ills 0“: e E?ha ol 8t @ 20% discount, but charges 10% on the discounted price; ©F

: packaging. Ihe retailer sells it for ¥ 4,092 more, thereby earn; fit of 25%. At what
price had the trader marked the item 9 Y earning a profit 0 -
(A) T18,600 (B) %19 40/

o A8 (€) 719,000
U SR 3w awq 1 20% i 7y > 1% (D) 18,000
qu@wg 6 Waﬁrm&?‘g}zﬂf1,2003ﬂﬁra?ﬁ%am,a’raﬁs%aﬂw€m'a@
A man sold an article at a loss of 20%, [f h cii i
) - 1t he could sell it for ¥ 1,200 fit of 5%.

What is the cost price of the article ? t B e
(A) 7,800 (B) %4,700 |

1 (C) T4,800 (D) 74,850
22 x3 x5}, 2% % 3% x 5 %1 VeEwH G (HCH) i £ | v :
Find the HCF of 2% x 3% x 5%, 24x32x5. |
2 2
(A) 2%x3%x9 ®B) 2*x32x5 () (© 22x3x7 (D) 22x3%x8

90, 128, 144 1 T FH9I (LCM) T et |
Find the LCM of 90, 128, 144,

(A) 5764 (B) 5758 (©) 5760 (D) 5762

21 afeRat T TPt Jq-cfsuat SRR &, Afe 3T & TF I 319 [ A H 65% ¥l + 9 7 firerar & wafe
G I T A o 1 80% Wl  ®9 H w2 | @ ve =Afh Tt S I, TA ANE & I I F 17
HIAE & ? ;,{gé
The total emoluments of two persons are the e, but one gets allowances to the Eextent of 65% of his
basic pay and the other gets allowances to the extent of 80% of his basic pay. The ratio of the basic pay of
the former to the basic pay of the latter is-: | o
A) 12:11 (B) 16:13 (] © 5:4 (D) 7:5 _
ek ST 3ifHd e T 20% A FE AR | H W*ﬂﬂa@mu%mmﬁm% | 72 7€ SR gy o
e 2, A AT % A HIST | |
A trader allows a discount of 20% on the mark("c;‘f] price. He still has a profit of 44% on the cost price. Fipq
the profit % if he sells at the marked price. , -
(A) 49% (B) 90% (€) 63% % ( sk

it % AR 9 & qa;anatﬁfsmsaﬁiﬂﬂﬁﬁﬁﬁaﬁﬁ Fericil i, 259 3
= ’ ; uﬁﬂaﬁmﬁﬁﬁmwwmé, SR 7 35y
< T 3T ET F 20% il o
e fofamT o ? ;
At a village trade fair, a man buys 2 horsczz{i)r;/
profit of 25% and the camel at 2 loss of 2070

cost pri;eot:)f(')the cheaper a;rfl;;na; \gi;!";)o (©) 8,500 (D) T2.500
(A) %2, ;

' v 2 2
aﬁmmﬁmsﬁﬁmﬁwﬁ%mﬁmﬁiﬂ mwmmtmmm

A Il'h i ch . - . . ) a .
. v 2 -

D) UNDRR
worldwide ? 2 (C) WHO - (D)

(A) UNESCO B) WTO 8 . -SWEEE S _

25. He sold the ho
el for a total amount of T 5,1 _ rse at 5
fﬁ(;?ll: had sold both the animals at the same price, then thq

f
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95. 1 ,
" S ST e e e # 2
() MG (B) Frcror aeh (G) 3T areft (D) I o
Wha authored the book, “An Era of Darkness” ? .. .
(A) Pandit Sunderlal (B) Christopher Bayly {- ) Asaf Ali (D) Shashi Tharoor
96. G20 M H “G” 787 31 7 aref & 4
b
(A) ST (B) ¥ (©) TE (D) 9~
What does the letter “G” stand for in G20 Nations ? ¢
(A) General (B) Great (Gl) Good (D) Group
97. W—m Wﬁwmmmwgi
(A) She weitht B) wfg R e (D) Ui
Fieldwork-based research is classified as ’
(A) Biographical (B) Empirical.” (C) Expei‘imental// (D) Historical
98. o TsAfer . SFoqe A ) o AT, () A wahia FA -
(A) =l ud anfior &5 o e ues Fie (B) A e % o o fore o Hisa
(C)  wret-mfior §X@ Yam F 3) Tmior &t A wredt gfaurd Iuersy FHET
The PURA scheme by the former President Dr. Abdj lam refers to :
(A) A Plan for Urban and Rural Areas {B) A model for the growth of the metro cities
(C) Providing Urban-Rural Alignment - ) Providing Urban Amenities in Rural Areas
/ A
99, SIS F GFY ST ITGH U HIH-AT R ? .
(A) EfEmn (B) T i) wewrs (D) T
Which State is the largest producer of bajra ? O
(A) Haryana (B) Rajasthan @) Maharashtra (D) Gujarat
100. 7 GrATY] fareg T I ew o fohe fored  Rera & 2
(A) TTIE (B) THRE (C) eI (D) &@¥K
The Narora Atomic Power Station is focated in which district of Uttar Pradesh ?
(A) Hathras (B) Hamirpur (C) Bulandshahar (D) Hardoi
101. ZTEEE Fred 1 STTTREhIRG 51 R E 2 QO
(a) dfe il (B) 3 ) <fer, (D) |
What is the official currency of the United Kingdom[{??
(A) Pound Sterling  (B) Yen iff) Dollar (D) Euro
102. HE=aa TR \ Ll
(A) e < ETEEIeH Sred! <]
(B) it srarce fafeoT Seafsfd S sy WT'ﬁF]
(C) T it FTel STEATHATES 1 SHaranfoe el m_')
(D) e =i e Bredt
What is Greenhouse gas 7
(A) Gas that releases hydrogen
(B) Gas that emits and absorbs infrared radiation
(C) Gas that absorbs carbon dioxide
(D) Gas that releases oxygt?:/
nrYYe
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mq@ﬂ%ﬂl{ﬁﬁﬁaﬁﬁﬁwm 3,

The identification number given to eve

Ty regist ieri

(A) GSTIN/ (B) GST . S(“Jff";’igiﬁ
HIESR G et e v o g oo 16T

In which year was the Cyber Surakshit Bharat Initiative launched ?

(A) 2016 . (B) 2015 (C) 2017 (D) 2018
forr Tt =0t sterefter wife e 3 9 2 sy w2 o

(A). 11 W/ (B) 193 L X(C) 21 fymEw (D) 14 Fam=w
Which day is recognized as International Day of Padce ?
h :

(A) 11" July (B) 19" August L AC) 215 September (D) 14h November
YR T Teelt after wum 5 9 oft 0 o

(A) Rt ®) R (Y(C) wfarih (D) wfSr Arg
Who was the first female Prime Minister of India 2-

(A) Mayawati (B) Indira Gandhi _'_"f(_C) Sonia Gandhi (D) Sarojini Naidu

FrferfRa & e e et T T SR 2 2
(A) T Hierew U Bidamesd e Vp) vt e fifizs

(C) Iema wnid widamgsr wisiifes fafies (D) TSI R HIEATESH U8 Hiuhed [T1Hes
Which of the following is the largest fertiliser producer in India ?

(A) Rashtriya Chemicals and Fertilisers Ltd. \\} (B) Coromandel International Ltd.

(C) Indian Farmers Fertiliser Cooperative Limitéﬁ? (D) Gujarat State Fertilisers and Chemicals Ltd.
HIa AR 0T AT 9 AR g ? O

(A) 10 3T, 1993 i) 109w, 1993,

(C) 28fadsw, 1993 CAD) 12 fes, 1993

The Protection of Human Rights Act came into foaqﬂ on: )

(A) 10 October, 1993 ( )(B) mzh July, 1993

(©) .281.11 September, 1993 {'3 D) 127 September, 1993

Tt 8 AETCR ST Y WA SR e o W S |
(A) HETEmEIEH (B) fpdenT (C) W= WId (D) feforest $fear

' ; ifi i Indian G ent’s initiative of
The cashless economy in India has been amplllilatd{,wflth (;;ws :{azz;]nh Bt:_:::m (:)] e
(A) Banking sector crisis  (B) Demoncuzatlo‘g_?S ( E

%«mmmﬁw@zmmﬁ'%wﬁmwﬁ?

TETTA e |edL \(C) ST (D) =R
o i i : ?(r(;: rveda’ ?
Which ancient Indian text is known as the ‘&-:Iwnw q (‘)Yl:\ mmh;mm Dy Maousmit
araka Samhita AL ashas

(A) Mahabharata (B) Chara |
.,m dfaue et @ €dTa HE?

. & form ag%@a- q ﬁ} 7 7’-((‘-, :3;:}3 250 (D) Y 245
U o & " dcs‘l%’r the establishment of panchayats ”

L y . “ -t‘tu[iun pruvi L 245
Which Article o/ The ‘"“‘j‘;f“’;”;ic,e 243 © Anicle250  (0) Aticle2T
(A) Aricle246  (B) AmticleZfr .-
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- T o i e e o e 3y e i e T 212

(A) 193?_31‘1 (B) 1630 o (C) 259 (D) 237T e
Which day is celebrated as World Meteorological Day ?

th
(A)  19% January (B) 16t April (C) 25" March (D) 23" March

SAC code consists of ___ digits.
(A) 10 )

(B) 4, (C) 5 (D) 6
“STE F e T F ¥ 1§ R Sy S o1 2

(A) o e (B) ) FaTeTeTE FEE

(C) TR IR 0T (DY g =iz s

Who was known as the ‘Iron Man of India’ ?

. 12
(A) Bhagat S_mgh (B)+ Jawaharlal Nehru

(C) Sardar Vallabhbhai Patel (D) !! Subhash Chandra Bose

wria = Tafes e § g od & wamar yw i ot 2

In which year did India gain independence from British r-lle ? 1
(A) 1964 (B) 1945 (C) 11999 (D) 1947~

1997 & SuTE T i siaU a1 e THE I SR ¥ ITed, Herr S ST i HHT T 2

(A) TEEF TER T (Hgscg )

(B) SITIF TATI-FIE0T-Sfqey gy @A)

(C) STa= ehugw aeH (3185 Hl.)

(D) TETY] ATER @ () J

Which international treaty, adopted in 1997, aims to“'_‘ﬁlimjnate the production, stockpiling and use of 1
chemical weapons ? )

(A) Chemical Weapons Convention (CWC) oy
(B) Comprehensive Nuclear-Test-Ban Treaty (CTBT) ©
(C) Biological Weapons Convention (BWC) ]
(D) Nuclear Non-Proliferation Treaty (NPT)

1

117. o SR FHCT T HiEE I %%Qna@%mﬁﬁﬁik 2023 ® ford ifir foa mam o 2

(A) fawmmmemE () WA AIER (C) | foram e (D) e R

Who was nominated as the Ambassador for ‘Was) Against Waste’ in Jammu and Kashmir in |

September 2023 ? 1

(A) Vishwanathan Anand  (B) Sachin Tendulkar (C) Vidya Balan (D) Captain Bana Singh
118, FferE & TEETET F TEd T TR 2 -.

(A) DNASREE  (B) 3t I (C) 5 Ferfire weetor (D) S dveryor

What is the main function of ribosome ina cell ? -

(A) DNA replication (B) Energy production  (C)* Lipid synthesis (D) Protein synthesis {
119.

ﬁﬁﬁmg@mﬁmmmm%ﬁﬁfﬁmmﬁﬁﬁmﬁwmg?

The distribution of mangroves is mainly found in which of the following parts of the Andaman and
Nicobar group of islands ? -

(A) Little Nicobar ~ (B) Car Nicobar (C)” North Andaman

(D) Little Andaman 2 =
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NOAA F1 qaea @ :

(A) T g she ATl et Qv st v v s e
(B) TS et o A i e a7 s e v
(©) Wi O T vy L

F
(D) e weaprer % 10 TSV sherteny (rwrren st i ammda dfiefedom,)
NOAA stands for : . C
(A) National Oceanic and Atmospheric Adminis'iratior}//
(B) National Oceanic and Atmospheric Association/
(C) No Organization At All .

(D) National Office for Arts Accreditation
4T TS T I 1 I I B 0

(A) wfeam s (B) dfrerTg (C) ¥ (D) @~
Which Indian State is the leading producer of tea ?

(A) West Bengal (B) Tamil Nadu _ (C) Kerala (D) Assam
T Ty e afteg A i R R 2 \/

(A) HIEH{dEH ATEH-NEH H SGIET & "y (B) af3e =mm 1 fafafia

: . Lii? ; .
(C) At adta gerar i Rt e o (D) iqUisda wifer 37 gee ST e
What is the role of the United Nations Security Council ?

(A) To promote cultural exchange . (B) To regulate global trade
(C) To oversee international humanitarian aid “_. (D) To maintain international peace and security
st &, o s 3 ARt i rrdehardt et & fFues o forg s e 1 2
(A) UAPA_~ (B) POSCO sfafrs (C) MISA (D) DIR it
In India, which Act provided the framework to deal with unlawful and terrorist activities ?
(A) UAPA (B) POSCO Act (C) MISA (D) DIR Act
it 3 S % T Rl ST ST R 2
(A) uEErE,”  (B) FIK - (©) ¥R (D) gfers
Who is known as the ‘Father of Geometry’ ? if‘
Y (C) Aristotle (D) Euchd
(A) Pythagoras (B) Kepler ~
e Taw 1) T ST Y oh SreIfeh ST 1R 2
fifea g i T g (et _J_,) Sk S
(A) Foz durfad & . L (B) AT SRS I SCATH
(C) W23 1 1T (1 (D) TR AEYE AT -
What is the primary benefit of using analytics toQl§ in social media communication .
(A) Editing content |' ~ (B) Blocking unwanted users

(C) Measuring performance £ , (D) Scheduling posts

2 e s e e s & % [0 ST
o AT e T 2| )
3::2 #!ﬁ; () e uL () guet 9 (D) Tl &

. - . - . 7 X - . - ‘ ~ =
wrough legitimate means and is accounted for, for ¥ hich income tax or

is money that is earned tl

other tax is paid. (D) Black moncy

(B) White money (C) Old currency
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' "'ﬁm%ﬁmmwwm%ﬁmmmmﬂmﬁwh

(4) TR B) dqfyyae  (C) T (D) FafFig

xhﬁhl E:’ml m the Preamble of the Indian Constitution signifies that India is free from any exicry,
ntrol

(A) Republic (B) Sovereign (C) Socialist (D) Secular

Wﬁﬁﬁ%ﬁﬁﬁﬁaﬁ?—wmaﬂmﬂaﬂzﬁwéﬂ%ﬂaﬁw%?

(A) TS 7 g3 (B) Bter A1

(C) 257 i yar (. (D) WITET#1 9ar

Which among the follo

wing plateaus in India lie bgtween the Aravali and the Vindh ya region ?
(A) Marwar Plateay 4

( + (B) Chota Nagpur Plateau
) Hescin Blacan 7+ (D) Malwa Plateau

(A) mﬁaﬁzaﬁ%ﬁmm )

(B) M URe memr <

() AT TaMT ("

(D) 3= Hieit & Wreifirr 353z oy g, AT S AT
What does the term “content curation” refer to in social media ?
(A) Blocking unwanted content
(B) Deleting old posts

(C)  Creating original content

(D) Selecting, organizing and sharing relevant content from other sources

130. ﬁﬁﬁ%qﬁ@a,%ﬁ%ﬁﬁmﬁmmaﬁ,wagﬁﬁmw%;
(A) SHETE dreh (B) TSR (O FRITRT (D)
The discovery of penicillin, which revolutionized _medicine, is attributed to - '
(A) Jonas Salk (B) Louis Pasteur ; (C) Alexander Fleming (D) Robert Koch
131, ¥RE — &4 1 RER a9 &1 R gew 2 9 ¥
(A) wrHifis aET aﬂtmasa‘ma?rua@ag—_ﬁ_
(B) Ude FI FgET 34T »
(C) wiepiaes niafefemar #r fafafig war ()
(D) SHTIT ATETSAN T T FAT
What is the importance of India — Russia Annual Summit 9
(A) Strengthening strategic partnership and defence cooperation
(B) Promoting tourism .
(C) Regulating cultural activities
(D) Reducing trade barriers L
o
132, wsiftre wreg 7 HifS | {_
VTS : 9159 fowar ;9 :
(A) ot (B) &7 ¢ (O) vHTHE (D)
Find the related word. \ aftay
Prime : Composite :: Odd : ? &
(A) Integer (B) Even ( (C) Positive (D) Rational
LT 17 R e
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133. Pl o , smoe R o s Arfe
53 % 37803} ahy el R e T

feaT T yrse . “MATHEMATICS”

In the following question, you will find four ay
word. One of these words cannot be form

Given word : “MATHEMATICS”

mmmmﬁm%mﬁﬁqm%mﬂﬁﬁ@m
ST AT | I Y162 =l TBATHT |

; . jven
tional words provided as alternatives alongsid® 2 g

. 4
ed usip the letters of the given word. Identify that word.

(A) THEM (B) MATH ' /
{ (C) MATE TTER
134, 915¥ T ifyy ) © e
FAFAA W <]
(A) T3 (B) ¥ - (C) 3iEm (i) (D) Tz (=)
Complete the analogy : )
Dog : Kennel :: Lion : ’
(A) Tree (B) Den (C) Shed (D) Burrow
135. @ﬁmmﬁﬁqﬁwﬁa(?)%mwm:
Find out the alternative which will replace the guestion mark (?)
24;.23 1262137 o
@ 122 B) 212 () 622 (D) 61°

Ife =l s
136. P @q=p’+q’+2pq, p#q=p2-q2—2pq%, (@2)#4 FUAHTL?
— N
Ifp@q=p +q2+2pq, p#q=p2—q2~2pq;‘\’yhatisthevalueof (T@2)#4°?

(A) 5897 (B) 568 .1 (C) 6480 (D) 493
137, 4@el H W 98 1 i |
Find the missing term in the series. ra;
ASBC, A4CE, A3DG,  , AIFK '
(A) A2FI (B) A2EF (C) A2EG (D) A2EI -

138. 1 sfer # o WA y A |
Find the missing number in the given series.
11, 15, 24, 40 7

(A) 90"“;’ é‘"% %p'( J 05 < © mow/,/ (D) 101
139, T 15 e e i e, o 2t gt & 9 20 e e e 7 s R e et 2
e fr e 8 9 & TR

(A) 23 ¥t afeem | (B) 25 et afiq-afvam ™ %%

(C) 26" am (D) 20T Y
Anna walks 15 meters south, then turns right anld walks another 20 meters. How far and in which directio.. § = !\“
is she from her starting point ? (&) on w('
(A) 23 meters west (B) 25 meters south-west .
(C) 26 meters north (D) 20 meters south e
140, 3THA H 30T 9 1 T | .
Find the next term in the sequence. \
AB, ABB, ABBB, ABBBB, ?
(A) ABB (B) ABBB (C) ABBBB (D) ABBBBB
T v Page190f24 T TS
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141, U Tt 5 8T IX % BT Iy A B, C, D& |

- 142.

I s PageZﬂUfz“

r. TR T gamAd | @RAB | dmHC ﬁ
ﬁﬁmaﬁﬁaﬂ?ﬁﬂfm 28 23 l?——_d 27

st e § s E = |

e e & et 4 OB 8 N

S w0 & st S — . |

e e e 5 7 ? P

THT glrared § et o 64 55 46 76

e 2% T T A s s s A T s S e 1 e O e , P # &
FH-ATFATIR 2 \/ ;

(A) ﬁmﬁﬁmwﬁwmgﬁg&ﬁmml

(B) orelanitier qiier 21ftrer shfe off |
(C) afies uieT AfRreh e off |

(D) ST TEETTSAT ohT SHiSTS T T THIA T |
A school has four sections A, B, C, D of Class I)Evsiudcnts.

https://sscportal.in/

[ Result Section A Section B | Section C | Section D
Students failed in both exams 28 23 17 27
Students failed in half-yearly but

; 14 12 8 13
passed in annual exams
Students passed in half-yearly but
failed in annual exams @
Students passed in both exams 64 55 46 76

In the context of comparing the difficulty level of the two examinations based on the ﬁumber of students
passing, which of the following statements is true-?

(A) The two exams cannot be compared for diffigulty level.
(B) Half-yearly exams were more difficult. ~

(©) Annual exams were more difficult. A

(D) Both the exams had almost the same dif’ ficulty level.

ﬁﬁ%ﬁiﬁﬁﬁaﬁmmaﬁ@ma,mvﬂaﬁtﬁﬁ%aﬁaﬂﬂaﬁmwm%?

Which of the following diagrams best indicates Iﬁe_ relation between India, Haryana and World ?

@ @ ®) © @ O

HTZ-.24
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. H@ﬁﬂﬁwwwaﬁﬁq%fﬁmmmmﬁs

(A) 25 _.
Aﬂalysm th fi (B) 2 (C) 23 JD! 24
& the figure, find how many red objects are not plastic.
Red ——
el B ® 2 . © D) 24
144, mmm#ﬁqﬁrmﬁ%@a(ﬁmwmmm;
IqwTT .
D
25% M0
20%] &
20%
(A) 90° (B) 30° (€ 60° (D) 72°
Study the graph and find the angle of sectop’ of coffee.
Consumption o

N

257, M50
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VS, 0 e g v 3, AR WRCCPARTNER ™ ®) 0ZQSMDQ™ ¥ & & ahifa b sman &, &t awft
Y o gEGMENT ® I YE g 2 oS
In a certain code language, if the word **PARTNER™ is coded as <“‘OZQSMDQ"". then what is the -
for the word **SEGMENT™" in that language ?
(A) RDFLDMS_ -~ "~/ (B) SERBCPT
(C) QWSARTH .| (D) TFHNFOU

146, & g e w1 1 SN ek Piferfae arfirsafes a8 wer sy, st o, o F AR, 0 A atarg
-t -ﬁmtaﬂ(-—+aﬁmt| (&)

Simplity the following expression using the given code language, where ‘+' represents “x’, *x’ represents

-7 " represents ‘<" and ‘< represents “+°. . ! { £ Y \"\'“r :
- 'T 3 - o Y ;
16x4+4%1472 ol yr 38 ¥\C
(A) 28 (B) 40 () (©) 35 (O] 76 oy ¥ W
\ Y G AN
147, @ TaH) Y 3N A A §U, ool I e, <IeH VT B WIS T SHAAT AT R |7 TE T FheAmoht 4 fre
e aiforg & o
1
(A) wrd (B) vt L (C) dfa (D) fﬁm/
Pointing to a man, Kalyani said, “His grandson is the only son of my brother.” How is the man related to
Kalyani ? (3)
(A) Brother (B) Nephew (C) Husband (D) Father

148. fraferfaa wem #, stoent R e wrse & @ o o= wiee el % w0 § Ruu ¥ | 39 & s vree #1 UM
ISR 3 TR T IJTANT ek T SATAT ST HehelT | I Yo bl Y@1Y |

f&am T we2 : “FORMATION" o8

In the following question, four other words are provided as alternatives alongside a given word. One of

these words cannot be formed using the letters of the given word. Identify that word.
Given word : “FORMATION™ Il

(A) MINOR (B) MAJOR . 1(C) TRAIN (D) RATIO

149, T e o T8 ken A, et T S 3K 6 et/ S T, e @ AReA i syt 4 km ot | sha A, 70
SR, 18 km eft 3R 3 w0 g | s forg 3wt i sw o fe R R 2 0
(A) S B) @ 5 (©) aforgd (D) Ie-gd

Seema ran 8 km towards east, then tumed left and started walking 6 km, then she turned right and walked

for 4 km. Finally, she took a right and walked for 18 km and reached her home. In which direction is hef
home located with respect to the starting point ?

(A) North (B) East (C) South-East (D) North-East

150. AR+, '+ H @ R, 0, F gl &, o, 0 W oawiar R, st o, o @y ayfar & A
30+ 10+6-5x6 FIHAFTR?

If *+’ represents "', “=’ represents ‘-, ‘- represents ‘x’, and ‘x’ represents ‘+’, then what is the value of
30+ 10+6-5x6""?
(A) —21 (B) 12 ) —-10 (D) - 14

i N ==
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